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Q. Letf(x)= & g(x) = f(f(f(f(x)))) then Ing(x)dx is
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Q. a.b=3v2 & |b| =6 such that a=i+0aj+Bk. If angle between a & b is — then value of O
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Q. RrR=|0 0 ,xsin9=ysin(0+%]=zsin[0+4—;J¢0
0 0 z
Statement— 1 { Trace (R) = 0

Statement — 2 : Trace (adj(adj (R)) =0
Statement —1 is true and statement — 2 is false tatement —1 is false and statement — 2 is false

(3) Statement —1 is false and statement — 2 is true %atement -1 is true and statement — 2 is true
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Q. If [ax=2,and |g =1, then
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Q. [f 11" term of G.P., whose 1% term is 'a’ and 3™ term is 'b', is equal to p" term of G.P. whose first term is O

'a' and 5" term is 'b', then value of p is
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Q. Letf(x)= X+ Ix+ay x<d is differentiable everywhere. The value of | f(x)dxis @
bx +2 ; x>1 =
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M
Q. Bag A contains 3 white & 7 red balls and bag B contains 2 white & 3 Red balls. If a ball is picked up O
randomly then what is the probability that the ball picked is white from bag A
1) — 2) — 3) — 4) —
()20 ()20 ()10 ()20

21
fav

> Q“ZJA<7& ()= Tre
W

0@‘3 <3;(

BaaA Baldsw = 3¢ x 10~ / \L
/ | | \/\( ,
y=

@0\78/86&1\)0\}? “ZCIX 5‘(} T(Ir\—\v)l

s
GETSCHOLARSHIP | IEN3
© RANKERS OFFLINE CLASSES KZLTTEY) FORNEW ADMISSION | GOOGLE FORM




© RANKERS OFFLINE CLASSES V.. T'5)) ngf JEEWGHMEU |ss|"I * 'nn"' mm.s




¥ (2019, oD

V(tQ), A-t4=0

= (J-)+=1 S

Y kit / \

#U'”Jrar—orzﬂ-zwar—_o Y+ 4=0 5 I*
5y . _ - L
[~ yta=0 o= W) %1 ) ane YLMH—(W-ﬁ)ﬁ
:) kf]‘})ﬂ;o =3,3 O g(/
=

b
GETSCHOLARSHIP | IEN3
© RANKERS OFFLINE CLASSES KZLTTEY) FORNEW ADMISSION | GOOGLE FORM




P
© RANKERS OFFLINE CLASSES V..T.T.59) FgF.‘E Eﬁ';mnsann




log, 4 A
Q. Letf(x) = ae> + be* + cx, where f(0) = -1, f'(log, 2)=21 and I (f(x)—ox)dx —% then the value of O
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M
Q. A question paper has three sections A,B, C having 8, 6, 4 questions respectively. If the student has to O
answer 15 questions attempting atleast four from each section. Find the number of ways the paper can
be answered by student.

(1) 342 (2) 344 (3) 374 (4) 340
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M
Q. LetapBe [Og] , 3sin (a + B) = 2sin(a—B) and tana = k tanf then the value of k is O
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Q. Find number of real solutions of the equation x(x? +|x| + 5 |[x=1]| — 6 |x-2|) =
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Q. If@= {1, 2,3,4} then find number of symmetric relation on A which is not reflexive is
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